| N of reco track vs normalized x2 | | N of associated (recoToSim) tracks vs normalized x? N of associated (recoTosim) looper tracks vs normalized X

2 F 2 [ L2 F 2
[*] o Q [=] o
Sk gL g, g
SI0F oy = oo s
F Z Pk s 810?
10*F r =
F 10°F 3
10°F
E i 10°F 10°
10°F 3
3 10F 10
10F
;- 1= 1
o P 1 o s 28
s I T =
@ A I 4 x @
0.5F wr - E # - -5-+11)- o.5F Hi - 0.5]
bttt HE T ottt [EHE 1] st it s
(iJ 2 4 6 8 10 12 14 16 18 20 C() 2 4 6 8 10 12 14 16 18 20 CU 2 4 6 8 10 12 14 16 18 20 CO 4 6 8 10 12 14 16 18 20
track x2 track x2 track x2 track x?
E
2 E L E 2
“10°E & 2O0°F s
2 =l . S0
=
3




	Contents
	Page 1


